Complete vs. Incomplete Combustion
To the tune of Dreidel, dreidel, dreidel

Oh, combustion-bustion-bustion

Complete and incomplete,

Incomplete’s more common,

And complete is more rare.

Combustion reactions are
Oxidation reactions too.

They are exothermic,

Produce heat and happen fast. 

I love complete combustion;

Often hydrocarbon burns in oxygen.

And when the reaction’s finished,

There’s CO2 and H2O .

There are many fuels with iron,

Carbon, sulfur and nitrogen.

When they burn in O2,

They make common oxides.

True complete combustion,

Is hardly ever seen. 

As the reaction equalizes,

Products aren’t always limited. 

That’s when incomplete combust-

ion tends to occur.

This reactions’ byproducts

Can be very harmful.

However, it’s quite common, 
Especially with solid fuels.

Can’t get to that good oxygen

To be able to react fast.

The reactants can’t all oxidize,

So there are leftovers.

This means that the reaction

Has numerous products.

One example’s hydrocarbon, 

That’s burning in the air.

Sometimes some carbon cannot 

Oxidize to form CO2.

This is really bad now- 

Making carbon soot and CO.  
That’s a poisonous gas there
And it’s a pollutant.

Also, fuels can have some sulfur,

And react to make SO2.

This gas dissolves in water

And creates an acid rain.

Oh, combustion-bustion-bustion,

Complete and incomplete.

Complete is super-fancy,

While incomplete’s not so neat.  
